

TO VALIDATE, GO TO Certificate Number : GI-COO-48342-6683f66bbd9fb VERIFY.FTGS.US Date: July 02, 2024

	VERIFY.FIGS.US Date: July 02, 2024					
Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Ty Vessel	pe		Port of Loading Los Angeles		
Irvine CA USA	Destination Country China		Destination I Tianjin	Destination Port Tianjin		
Consignee	Export Date 2024-06-18	Export Date 2024-06-18		arrier		
INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY	Import Permi N/A	it Number	Bill of Lading 401410230			
INNER MONGOLIA, 011500 China	Owner or Age N/A	ent	Forwarding A N/A	Agent		
Buyer (Importer) INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Remarks Total: 1559 Total: 660.2					
Description (May include notes on Quantity, Item Number, Marks and Numbe	rs Kind of Package		Weight	Country of Origin		
Alfalfa Hay			21.283mt	United States		
Marks: BMOU5003684 52bales						
Alfalfa Hay			21.183mt	United States		
Marks: EGHU9768137 52bales						
Alfalfa Hay Marks: TEMU6174176 52bales			22.036mt	United States		
Alfalfa Hay Marks: EMCU8605588 52bales			22.625mt	United States		
Alfalfa Hay Marks: TRHU6784892 52bales			22.471mt	United States		
Alfalfa Hay Marks: EMCU8522436 52bales			21.99mt	United States		
Alfalfa Hay Marks: TLLU4587274 52bales			22.653mt	United States		
Name of Authorized Trade Association		 The above-mentioned goods orig applicable in the country(les) to th -The information in this certificate accurate, true and complete. The Applicant undertakes to advi Certificate (or to whom the Certifi of any inaccuracy, omission or ch- -The Applicant will maintain, and p truth, accuracy and completeness -In consideration for the GIC's isst 	jinate in the country(ies) speci- lose goods. and in any documents provid se GIC and any other person(s cate is provided to with the kn ange in such information, or in oresent upon request, such do of this certificate and accomp lance of this Certificate, the A connection with the issuance s made against GIC in connect	cumentation as is necessary to verify the panying documents. pplicant agrees to release, discharge and hold of this certificate and to indemnify GIC in tion herewith.		



TO VALIDATE, GO TO Certificate Number : GI-COO-48342-6683f66bbd9fb VERIFY.FTGS.US Date : July 02, 2024

	VERIFY.F1G5.US Date: July 02, 2024					
Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Ty Vessel	pe		Port of Loading Los Angeles		
Irvine CA USA	Destination Country China		Destination F Tianjin	Destination Port Tianjin		
Consignee	Export Date 2024-06-18	Export Date 2024-06-18		rrier		
INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY	Import Permi N/A	it Number		Bill of Lading / AWB 401410230329		
INNER MONGOLIA, 011500 China	Owner or Age N/A	ent	Forwarding A N/A	Agent		
Buyer (Importer) INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Remarks Total: 1559 Total: 660.2					
Description (May include notes on Quantity, Item Number, Marks and Numbe	ers Kind of Package		Weight	Country of Origin		
Alfalfa Hay			22.145mt	United States		
Marks: EMCU8219013 52bales						
Alfalfa Hay			22.281mt	United States		
Marks: TGBU6138034 52bales						
Alfalfa Hay Marks: TGBU6946958 52bales			22.48mt	United States		
Alfalfa Hay Marks: TXGU5801206 52bales			22.145mt	United States		
Alfalfa Hay Marks: TRHU6843640 52bales			22.199mt	United States		
Alfalfa Hay Marks: TXGU5541325 52bales			21.509mt	United States		
Alfalfa Hay Marks: TXGU5846535 52bales			22.063mt	United States		
Name of Authorized Trade Association		 The above-mentioned goods orig applicable in the country(les) to th -The information in this certificate accurate, true and complete. The Applicant undertakes to advii Certificate (or to whom the Certifii of any inaccuracy, omission or che -The Applicant will maintain, and p truth, accuracy and completeness -In consideration for the GIC's issu 	inate in the country(ies) speci ose goods. and in any documents provide se GIC and any other person(s cate is provided to with the kn ange in such information, or in present upon request, such doc of this certificate and accomp rance of this Certificate, the Ap connection with the issuance of s made against GIC in connect	cumentation as is necessary to verify the panying documents. oplicant agrees to release, discharge and hold of this certificate and to indemnify GIC in tion herewith.		



TO VALIDATE, GO TO Certificate Number : GI-COO-48342-6683f66bbd9fb VERIFY.FTGS.US Date : July 02, 2024

	VERIFY.FIGS.US Date: July 02, 2024					
Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Ty Vessel	pe		Port of Loading Los Angeles		
Irvine CA USA	Destination Country China		Destination Tianjin	Destination Port Tianjin		
Consignee	Export Date 2024-06-18	Export Date 2024-06-18 Import Permit Number N/A		arrier		
INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY				Bill of Lading / AWB 401410230329		
INNER MONGOLIA, 011500 China	Owner or Age N/A	ent	Forwarding A	Agent		
Buyer (Importer) INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Remarks Total: 1559 Total: 660.2					
Description (May include notes on Quantity, Item Number, Marks and Numbe	rs Kind of Package		Weight	Country of Origin		
Alfalfa Hay			20.738mt	United States		
Marks: GAOU6982781 52bales						
Alfalfa Hay			21.854mt	United States		
Marks: DRYU9288190 52bales						
Alfalfa Hay Marks: TGBU9928217 52bales			22.825mt	United States		
Alfalfa Hay Marks: TCNU6087467 52bales			21.555mt	United States		
Alfalfa Hay Marks: TCNU3907789 52bales			22.834mt	United States		
Alfalfa Hay Marks: EISU9478393 52bales			21.319mt	United States		
Alfalfa Hay Marks: EITU1322495 51bales			22.489mt	United States		
Name of Authorized Trade Association		 The above-mentioned goods orig applicable in the country(ies) to th -The information in this certificate accurate, true and complete. The Applicant undertakes to advis Certificate (or to whom the Certific of any inaccuracy, omission or che -The Applicant will maintain, and p truth, accuracy and completeness -In consideration for the GIC's issue 	jinate in the country(ies) spec lose goods. and in any documents provid se GIC and any other person(s cate is provided to with the kn ange in such information, or in ort sent upon request, such do of this certificate and accom lance of this Certificate, the A connection with the issuance s made against GIC in connect	cumentation as is necessary to verify the panying documents. pplicant agrees to release, discharge and hold of this certificate and to indemnify GIC in tion herewith.		



TO VALIDATE, GO TO Certificate Number : GI-COO-48342-6683f66bbd9fb VERIFY.FTGS.US Date : July 02, 2024

	VERIFY.FIGS.US Date: July 02, 2024					
Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Ty Vessel	pe		Port of Loading Los Angeles		
Irvine CA USA	Destination Country China		Destination I Tianjin	Destination Port Tianjin		
Consignee	Export Date 2024-06-18	Export Date 2024-06-18		nrier		
INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY	Import Permi N/A	it Number		Bill of Lading / AWB 401410230329		
INNER MONGOLIA, 011500 China	Owner or Age N/A	ent	Forwarding / N/A	Agent		
Buyer (Importer) INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Remarks Total: 1559 Total: 660.2					
Description (May include notes on Quantity, Item Number, Marks and Numbe	ers Kind of Package		Weight	Country of Origin		
Alfalfa Hay			22.362mt	United States		
Marks: EGHU9472130 52bales						
Alfalfa Hay			20.675mt	United States		
Marks: TCLU8665130 52bales						
Alfalfa Hay Marks: EISU8269465 52bales			22.262mt	United States		
Alfalfa Hay Marks: EITU1176976 52bales			21.954mt	United States		
Alfalfa Hay Marks: EGHU8256624 52bales			22.516mt	United States		
Alfalfa Hay Marks: HMCU9215340 52bales			21.845mt	United States		
Alfalfa Hay Marks: EMCU8387824 52bales			22.353mt	United States		
Name of Authorized Trade Association		 The above-mentioned goods ori applicable in the country(ies) to ti -The information in this certificate accurate, true and complete. The Applicant undertakes to adv Certificate (or to whom the Certif of any inaccuracy, omission or ch -The Applicant will maintain, and truth, accuracy and completeness -In consideration for the GICS iss 	ginate in the country(ies) speci hose goods. e and in any documents provid- ise GIC and any other person(s icate is provided to with the kn ange in such information, or in present upon request, such do s of this certificate and accomp uance of this Certificate, the A connection with the issuance is made against GIC in connect	cumentation as is necessary to verify the panying documents. pplicant agrees to release, discharge and hold of this certificate and to indemnify GIC in tion herewith.		



TO VALIDATE, GO TO Certificate Number : GI-COO-48342-6683f66bbd9fb VERIFY.FTGS.US Date : July 02, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Typ Vessel	De		Port of Loading Los Angeles	
Irvine CA USA	Destination C China	country	X////////	Destination Port Tianjin Exporting Carrier N/A	
Consignee	Export Date 2024-06-18				
INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500	Import Permi N/A	t Number	B	ill of Lading / / 401410230329	AWB
China	Owner or Agent N/A Forwarding Agent N/A				
Buyer (Importer) INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Remarks Total: 1559 t Total: 660.27				
Description (May include notes on Quantity, Item Number, Marks and Numbers, k	Kind of Package	s.)	v	Veight	Country of Origin
Alfalfa Hay Marks: EGSU9186187 52bales			22.0271	mt	United States
Alfalfa Hay			21.546	mt	United States
Marks: TEMU7150878 52bales					
=====end of products=======					
Name of Authorized Trade Association		applicable in the country(ies) to the -The information in this certificate a accurate, true and complete. -The Applicant undertakes to advisi Certificate (or to whom the Certific of any inaccuracy, omission or char -The Applicant will maintain, and pr truth, accuracy and completeness of -In consideration for the GIC's issue	nate in the cc ose goods. and in any do e GIC and any ate is provide nge in such in resent upon n of this certific ance of this C onnection with made agains	puntry(ies) specified ocuments provided to y other person(s) to v dd to with the knowle nformation, or in the equest, such docume rate and accompany certificate, the Applic th the issuance of this t GIC in connection l	above and comply with the rules of origin the Greater Irvine Chamber ("GIC") is whom the applicant provides this dge of the Applicant) promptly in writing origin of goods. entation as is necessary to verify the ing documents. ant agrees to release, discharge and hold is certificate and to indemnify GIC in

COMMERCIAL INVOICE

Invoice Metric

Invoice No.

BH-202405019

Healthy Green Life Corporation 1152 S Roughcut Dr, Casa Grande, AZ 85194 USA

COMMERCI	AL INVOI	CE		Date:		5/27/24	
Shipper/Exporter Healthy Green Life 1152 S Roughcut D Casa Grande, AZ 8!	Corp Pr			Consignee: INNER MONGOLIA E HUTONGTU VILLAGI SHENGLE TOWN, HELINGEER COUNTY INNER MONGOLIA			
Vessel:	EVER MAGI			Contract No.:	BH-HGLC2024-2		
Voyage No.:	1351-002W			Booking No.:	401410230329		
Shipping Line:	Evergreen			Country of Origin:	USA		
Port of Loading:	LOS ANGELES	5, CA		Discharge:	TianjinXingang, China		
ETD:	6/9/24			ETA:	7/3/24		
Price Terms:	CIF						
Container No.	Seal #	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)	
BMOU5003684	010112	Alfalfa Supremi	52	21.283	\$417.00	\$8,875.01	
DRYU9288190	016982	Alfalfa Supremi	52	21.854	\$417.00	\$9,113.12	
EGHU8256624	016955	Alfalfa Supremi	52	22.516	\$417.00	\$9,389.17	
EGHU9472130	016963	Alfalfa Supremi	52	22.362	\$417.00	\$9,324.95	
EGHU9768137	010113	Alfalfa Supremi	52	21.183	\$417.00	\$8,833.31	
EGSU9186187	017059	Alfalfa Supremi	52	22.027	\$417.00	\$9,185.26	
EISU8269465	016959	Alfalfa Supremi	52	22.262	\$417.00	\$9,283.25	
EISU9478393	016966	Alfalfa Supremi	52	21.319	\$417.00	\$8,890.02	
EITU1176976	016956	Alfalfa Supremi	52	21.954	\$417.00	\$9,154.82	
EITU1322495	016964	Alfalfa Supremi	51	22.489	\$417.00	\$9,377.91	
EMCU8219013	010104	Alfalfa Supremi	52	22.145	\$417.00	\$9,234.47	
EMCU8387824	017092	Alfalfa Supremi	52	22.353	\$417.00	\$9,321.20	
EMCU8522436	010105	Alfalfa Supremi	52	21.990	\$417.00	\$9,169.83	
EMCU8605588	010110	Alfalfa Supremi	52	22.625	\$417.00	\$9,434.63	
GAOU6982781	016981	Alfalfa Supremi	52	20.738	\$417.00	\$8,647.75	
HMCU9215340	016960	Alfalfa Supremi	52	21.845	\$417.00	\$9,109.36	
TCLU8665130	016962	Alfalfa Supremi	52	20.675	\$417.00	\$8,621.48	
TCNU3907789	UL5463847	Alfalfa Supremi	52	22.834	\$417.00	\$9,521.78	
TCNU6087467	016976	Alfalfa Supremi	52	21.555	\$417.00	\$8,988.43	
TEMU6174176	010121	Alfalfa Supremi	52	22.036	\$417.00	\$9,189.01	
TEMU7150878	017058	Alfalfa Supremi	52	21.546	\$417.00	\$8,984.68	
TGBU6138034	016996	Alfalfa Supremi	52	22.281	\$417.00	\$9,291.18	
TGBU6946958	016993	Alfalfa Supremi	52	22.480	\$417.00	\$9,374.16	
TGBU9928217	016978	Alfalfa Supremi	52	22.825	\$417.00	\$9,518.02	
TEL04587274	910107	Alfalfa Supremi	52	22.653	\$417.00	\$9,446.30	
TRHU6784892	010109	Alfalfa Supremi	52	22.471	\$417.00	\$9,370.41	

2024

02,

7/1/24, 3:00 PM				Invoice Metric		
TRHU6843640	016986	Alfalfa Supremi	52	22.199	\$417.00	\$9,256.98
TXGU5541325	016984	Alfalfa Supremi	52	21.509	\$417.00	\$8,969.25
TXGU5801206	016987	Alfalfa Supremi	52	22.145	\$417.00	\$9,234.47
TXGU5846535	016983	Alfalfa Supremi	52	22.063	\$417.00	\$9,200.27
Total Value:			1,559	660.217		\$275,310.48

Commodity	Crude Protein	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG

By Healthy Green Life Corporation

AUTHORIZED SIGNATURE



